aw 7"7'0n 2,y naw

aw from ynw - R W

OVERVIEW

X1°I17 "2 °01° " explains that "01 " interprets the word nnX» to mean that if
one intended to write one (large) word 1wnw (this refers to NnX) and instead
he wrote a small word aw (this refers to nnXn»), nevertheless he is 2. Our
nvoIn explains that according to °01° " there is even a greater novelty.

Mmoo anticipates a difficulty
— NP Y017 2297 NIYINT 1192 929120 7298 MN XY NIWY NN

It was not necessary for X1°27 72 01> " to use the expression Nvrwn ow,

since the X 1) is expounding the view of %o ' -
— D903 VY YY NNN NIV IPPANT (3,57 97 mpy» NN P92 9204

Who maintains in 729277 P92 that even if one made one mark on two

boards -
- 1:l”!'\ 1N 90 Y MUY NIV IN

Or he made two marks on one board; he is liable for writing on naw. Why
therefore did 11"2°7 state that he wrote Nvnawn 0w instead of that he made two marks?!

mooIn responds.
— Ux Ty ,ov) NNANT PIINNT NIYID VPINY ND NN NON

However the reason 11"2°7 states that he wrote NYaw»n oW is because it was
preferable for him to use the expression of the /w» in 711377 P79 which
states -

Znynwun av 97 aun JVP BV 18N AN 139 DN
‘77 ' said we find that one is liable for writing a small name from a big
name, i.e., Wwrwn aw’. Therefore 1"2°7 chose to ‘paraphrase’ >"1.

SUMMARY
n"21 chose to use the expression of 7717 " that he wrote 1wnawn av (even

"0 1 is of the opinion that it is not necessary to write two letters to be 2»n for 1203, it is sufficient if one
makes two marks. The writing in the 19wn (according to °01* ") took the form of marking the boards so they
would be set up in the proper order. If one had the intention of making a number of marks and then made
only two marks he is 277; this is what nnxn teaches us according to *01° "1 (see 2"77n). The question is why
did "2 states that he wrote 1w»wn ow (which is a complete word), when he could have said he made only
two marks instead of whatever.

* See ‘Thinking it over’.
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aw 7"7'0n 2,y naw

though one would be liable for just marking [according to °01* "1]), since that
expression is clearly written in the 71wn

THINKING IT OVER

moon explains that "2 used the expression Nwawn aw (instead of °nw
M) since that is written explicitly in the 7awn.” However the mawn there
also writes the view of "0 " that marking is sufficient to be 21 for 72°n3;
why choose 777 "1 over 07 ' especially since we are discussing 01 "1?!*

? See footnote # 2.

* See 0"vn and 7K 0. [The a"ann writes that the view of *0v " is mentioned in the Jawn that RS 1208
21 AR AW KOX vIw. However in our 71w it only states awy1 2wn K2R 131120 R?; however in the Xn»12
it does state 121 NAR 7V VW]
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